
CS 692: Data Structures and Algorithms Capstone Exam, Spring 2022.  
Choose any 2 of the 3 problems. 

 
Full name: _________________       Net ID:_________________ 
 
Question 1) (10 points each) 
Consider the following recurrence relations and solve them to come up with a precise function of n in 
closed form (that means you should resolve all sigmas, recursive calls of the function T, etc.). An 
asymptotic answer is not acceptable here. Justify your solution and show all your work.  
 

a) T(n) = 2T(n/2) + 7n where �6(1) = 1 and �J = 2�G for a non-negative integer k. 
b)


